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2χ  59.77 / 25

p0        0.0±  3914 

p1        1.98e-04± 7.91e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2)

TP delay [ns]
0 20 40 60 80 100

3909

3910

3911

3912

3913

3914

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)
 / ndf 2χ  61.88 / 25

p0        0.0±  3915 

p1        0.0001919± 0.0008887 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4) / ndf 
2χ  71.74 / 25

p0        0.0±  3909 

p1        0.000188± 0.000984 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4)

TP delay [ns]
0 20 40 60 80 100

3904

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5) / ndf 
2χ  66.27 / 25

p0        0.0±  3904 

p1        0.000188± 0.001134 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6)
 / ndf 2χ  61.09 / 25

p0        0.0±  3930 

p1        0.0001829± 0.0009877 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7) / ndf 
2χ  65.36 / 25

p0        0.0±  3919 

p1        0.000177± 0.000761 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8)
 / ndf 2χ  111.4 / 25

p0        0.0±  3923 

p1        0.0001982± 0.0003268 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8)

TP delay [ns]
0 20 40 60 80 100

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9)
 / ndf 2χ  89.98 / 25

p0        0.0±  3916 

p1        0.0001899± -0.0002091 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10)
 / ndf 2χ  105.1 / 25

p0        0.0±  3913 

p1        0.0001810± 0.0003406 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10)

TP delay [ns]
0 20 40 60 80 100

3919

3920

3921

3922

3923

3924

3925

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)
 / ndf 2χ  114.9 / 25

p0        0.0±  3925 

p1        0.0001834± 0.0002219 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)

TP delay [ns]
0 20 40 60 80 100

3933

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12)
 / ndf 2χ  59.53 / 25

p0        0.0±  3933 

p1        0.0001919± 0.0005887 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12)

TP delay [ns]
0 20 40 60 80 100

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13)
 / ndf 2χ  63.46 / 25

p0        0.0±  3927 

p1        0.0001637± 0.0008718 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13)

TP delay [ns]
0 20 40 60 80 100

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14)
 / ndf 2χ  36.81 / 25

p0        0.0±  3928 

p1        0.0002092± 0.0007722 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)
 / ndf 2χ  70.39 / 25

p0        0.0±  3931 

p1        0.0001809± 0.0002819 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)



TP delay [ns]
0 20 40 60 80 100

3917

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)
 / ndf 2χ  69.54 / 25

p0        0.0±  3917 

p1        1.807e-04± -6.824e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1)
 / ndf 2χ  59.53 / 25

p0        0.0±  3915 

p1        0.0001935± 0.0002734 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1)

TP delay [ns]
0 20 40 60 80 100

3929

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2)
 / ndf 2χ  51.36 / 25

p0        0.0±  3929 

p1        0.0001813± 0.0002126 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2)

TP delay [ns]
0 20 40 60 80 100

3917

3918

3919

3920

3921

3922

3923

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3)
 / ndf 2χ  91.81 / 25

p0        0.0±  3923 

p1        1.932e-04± 8.124e-06 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,4) / ndf 
2χ  49.56 / 25

p0        0.0±  3925 

p1        0.00019± 0.00117 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5) / ndf 
2χ  59.75 / 25

p0        0.0±  3930 

p1        0.00019± 0.00165 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6) / ndf 
2χ  60.03 / 25

p0        0.0±  3926 

p1        0.000191± 0.001491 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6)

TP delay [ns]
0 20 40 60 80 100

3914

3915

3916

3917

3918

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7) / ndf 
2χ  50.12 / 25

p0        0.0±  3918 

p1        0.000199± 0.001237 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7)

TP delay [ns]
0 20 40 60 80 100

3942

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8) / ndf 
2χ  42.22 / 25

p0        0.0±  3942 

p1        0.000184± 0.001153 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9) / ndf 
2χ  51.75 / 25

p0        0.0±  3941 

p1        0.000203± 0.001405 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9)

TP delay [ns]
0 20 40 60 80 100

3941

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10) / ndf 
2χ   55.4 / 25

p0        0.0±  3941 

p1        0.000198± 0.001228 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11) / ndf 
2χ   66.6 / 25

p0        0.0±  3935 

p1        0.000182± 0.001247 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)
 / ndf 2χ  62.61 / 25

p0        0.0±  3928 

p1        0.0002003± 0.0001172 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)

TP delay [ns]
0 20 40 60 80 100

3938

TVC (Mean) vs TP delay (c,b,ch)=(4,4,13)
 / ndf 2χ   85.5 / 25

p0        0.0±  3938 

p1        0.0001839± 0.0001182 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14)
 / ndf 2χ  86.11 / 25

p0        0.0±  3935 

p1        1.791e-04± -6.111e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14)

TP delay [ns]
0 20 40 60 80 100

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)
 / ndf 2χ  64.81 / 25

p0        0.0±  3927 

p1        0.0001845± -0.0001006 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)



TP delay [ns]
0 20 40 60 80 100

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0)
 / ndf 2χ  72.75 / 25

p0        0.0±  3915 

p1        0.0001997± 0.0009644 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,1) / ndf 
2χ  71.62 / 25

p0        0.0±  3912 

p1        0.000184± 0.001224 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2) / ndf 
2χ  91.45 / 25

p0        0.0±  3918 

p1        0.000184± 0.001158 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2)

TP delay [ns]
0 20 40 60 80 100

3923

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3)
 / ndf 2χ  84.42 / 25

p0        0.0±  3923 

p1        0.0001817± 0.0008181 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4)
 / ndf 2χ  74.78 / 25

p0        0.0±  3911 

p1        0.0001936± 0.0003114 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4)

TP delay [ns]
0 20 40 60 80 100

3901

3902

3903

3904

3905

3906

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5)
 / ndf 2χ  71.58 / 25

p0        0.0±  3906 

p1        0.0001997± 0.0004868 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6) / ndf 
2χ  112.6 / 25

p0        0.0±  3917 

p1        0.000189± 0.000314 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7)
 / ndf 2χ  92.18 / 25

p0        0.0±  3908 

p1        0.000182± -0.000135 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8) / ndf 
2χ  84.16 / 25

p0        0.0±  3937 

p1        0.00019± 0.00102 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8)

TP delay [ns]
0 20 40 60 80 100

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9)
 / ndf 2χ  91.42 / 25

p0        0.0±  3935 

p1        0.0001834± 0.0009128 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9)

TP delay [ns]
0 20 40 60 80 100

3937

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10) / ndf 
2χ  101.1 / 25

p0        0.0±  3937 

p1        0.000183± 0.001019 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)
 / ndf 2χ  88.81 / 25

p0        0.0±  3932 

p1        0.0001836± 0.0009828 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)

TP delay [ns]
0 20 40 60 80 100

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,5,12) / ndf 
2χ  49.28 / 25

p0        0.0±  3935 

p1        0.000198± 0.001041 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,12)

TP delay [ns]
0 20 40 60 80 100

3931

3932

3933

3934

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13) / ndf 
2χ  43.79 / 25

p0        0.0±  3935 

p1        0.000187± 0.001058 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13)

TP delay [ns]
0 20 40 60 80 100

3939

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14)
 / ndf 2χ  62.87 / 25

p0        0.0±  3939 

p1        0.0001752± 0.0006775 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15)
 / ndf 2χ  37.34 / 25

p0        0.0±  3938 

p1        0.0001818± 0.0009508 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,0) / ndf 
2χ  68.71 / 25

p0        0.0±  3920 

p1        0.000194± 0.001551 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,0)

TP delay [ns]
0 20 40 60 80 100

3924

TVC (Mean) vs TP delay (c,b,ch)=(4,6,1) / ndf 
2χ  56.08 / 25

p0        0.0±  3924 

p1        0.000184± 0.001646 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,2) / ndf 
2χ  73.15 / 25

p0        0.0±  3931 

p1        0.000179± 0.001892 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,2)

TP delay [ns]
0 20 40 60 80 100

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,6,3) / ndf 
2χ  73.11 / 25

p0        0.0±  3926 

p1        0.000186± 0.001794 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,3)

TP delay [ns]
0 20 40 60 80 100

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4) / ndf 
2χ   68.5 / 25

p0        0.0±  3915 

p1        0.000179± 0.001095 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4)

TP delay [ns]
0 20 40 60 80 100

3913

TVC (Mean) vs TP delay (c,b,ch)=(4,6,5) / ndf 
2χ  60.62 / 25

p0        0.0±  3913 

p1        0.000176± 0.001464 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6) / ndf 
2χ  41.34 / 25

p0        0.0±  3913 

p1        0.00018± 0.00139 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7) / ndf 
2χ  64.46 / 25

p0        0.0±  3912 

p1        0.000187± 0.001302 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,8) / ndf 
2χ  104.8 / 25

p0        0.0±  3925 

p1        0.000188± 0.000628 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,8)

TP delay [ns]
0 20 40 60 80 100

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,6,9)
 / ndf 2χ  85.99 / 25

p0        0.0±  3916 

p1        0.0001846± 0.0008929 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10)
 / ndf 2χ  104.5 / 25

p0        0.0±  3915 

p1        0.0001800± 0.0008702 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,11) / ndf 
2χ    113 / 25

p0        0.0±  3922 

p1        0.000179± 0.001328 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12) / ndf 
2χ   93.4 / 25

p0        0.0±  3928 

p1        0.0002± 0.0012 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12)

TP delay [ns]
0 20 40 60 80 100

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13) / ndf 
2χ  102.4 / 25

p0        0.0±  3928 

p1        0.000206± 0.001755 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13)

TP delay [ns]
0 20 40 60 80 100

3909

3910

3911

3912

3913

3914

3915

3916

3917

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14) / ndf 
2χ  84.62 / 25

p0        0.0±  3917 

p1        0.000184± 0.001368 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14)

TP delay [ns]
0 20 40 60 80 100

3925

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15) / ndf 
2χ  78.01 / 25

p0        0.0±  3925 

p1        0.000186± 0.001363 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15)



TP delay [ns]
0 20 40 60 80 100

3942

TVC (Mean) vs TP delay (c,b,ch)=(4,7,0) / ndf 
2χ  122.2 / 25

p0        0.0±  3942 

p1        0.00020± 0.00097 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1)
 / ndf 2χ  93.53 / 25

p0        0.0±  3943 

p1        0.0001863± 0.0008273 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2) / ndf 
2χ  117.3 / 25

p0        0.0±  3939 

p1        0.000179± 0.001227 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3) / ndf 
2χ  156.9 / 25

p0        0.0±  3941 

p1        0.00018± 0.00161 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4) / ndf 
2χ  62.55 / 25

p0        0.0±  3928 

p1        0.000195± 0.001132 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5) / ndf 
2χ   89.8 / 25

p0        0.0±  3927 

p1        0.000196± 0.001294 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5)

TP delay [ns]
0 20 40 60 80 100

3931

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6) / ndf 
2χ  121.7 / 25

p0        0.0±  3931 

p1        0.000189± 0.001453 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7) / ndf 
2χ  104.4 / 25

p0        0.0±  3941 

p1        0.000197± 0.001334 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7)

TP delay [ns]
0 20 40 60 80 100

3934

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8) / ndf 
2χ    105 / 25

p0        0.0±  3934 

p1        0.000210± 0.001259 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,9) / ndf 
2χ    129 / 25

p0        0.0±  3929 

p1        0.000180± 0.001565 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10) / ndf 
2χ    160 / 25

p0        0.0±  3925 

p1        0.000177± 0.001281 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10)

TP delay [ns]
0 20 40 60 80 100

3925

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11) / ndf 
2χ  128.5 / 25

p0        0.0±  3925 

p1        0.000181± 0.001213 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11)

TP delay [ns]
0 20 40 60 80 100

3952

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12)
 / ndf 2χ    105 / 25

p0        0.0±  3952 

p1        0.0001922± 0.0006911 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13)
 / ndf 2χ  86.25 / 25

p0        0.0±  3954 

p1        0.0001799± 0.0009196 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13)

TP delay [ns]
0 20 40 60 80 100

3945

3946

3947

3948

3949

3950

3951

3952

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14)
 / ndf 2χ  79.05 / 25

p0        0.0±  3952 

p1        0.0002140± 0.0006002 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14)

TP delay [ns]
0 20 40 60 80 100

3954

3955

3956

3957

3958

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15)
 / ndf 2χ  106.2 / 25

p0        0.0±  3958 

p1        0.0001807± 0.0006603 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,0) / ndf 
2χ  125.6 / 25

p0        0.0±  3913 

p1        0.000199± 0.001083 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,0)

TP delay [ns]
0 20 40 60 80 100

3912

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1)
 / ndf 2χ  94.52 / 25

p0        0.0±  3912 

p1        0.0001869± 0.0004777 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1)

TP delay [ns]
0 20 40 60 80 100

3917

3918

3919

3920

3921

3922

3923
TVC (Mean) vs TP delay (c,b,ch)=(4,8,2)

 / ndf 2χ  120.9 / 25

p0        0.0±  3922 

p1        0.0001781± 0.0008506 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3)
 / ndf 2χ    151 / 25

p0        0.0±  3916 

p1        0.0001780± 0.0008339 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3)

TP delay [ns]
0 20 40 60 80 100

3909

3910

3911

3912

3913

3914

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4) / ndf 
2χ  94.25 / 25

p0        0.0±  3915 

p1        0.000199± 0.001315 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4)

TP delay [ns]
0 20 40 60 80 100

3908

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5) / ndf 
2χ  112.3 / 25

p0        0.0±  3908 

p1        0.000182± 0.001162 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5)

TP delay [ns]
0 20 40 60 80 100

3910

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6) / ndf 
2χ  88.42 / 25

p0        0.0±  3910 

p1        0.000193± 0.001318 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7) / ndf 
2χ  97.39 / 25

p0        0.0±  3910 

p1        0.000188± 0.001182 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8)
 / ndf 2χ  114.4 / 25

p0        0.0±  3910 

p1        0.0001856± 0.0005546 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9)
 / ndf 2χ  85.05 / 25

p0        0.0±  3908 

p1        0.0001712± 0.0004175 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9)

TP delay [ns]
0 20 40 60 80 100

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,8,10)
 / ndf 2χ  142.6 / 25

p0        0.0±  3911 

p1        0.0001710± 0.0007658 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11)
 / ndf 2χ  105.5 / 25

p0        0.0±  3915 

p1        0.0001765± 0.0006038 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11)

TP delay [ns]
0 20 40 60 80 100

3897

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12) / ndf 
2χ    130 / 25

p0        0.0±  3897 

p1        0.000192± 0.001087 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,13) / ndf 
2χ  132.5 / 25

p0        0.0±  3901 

p1        0.00018± 0.00108 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,13)

TP delay [ns]
0 20 40 60 80 100

3897

3898

3899

3900

3901

3902

3903

TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)
 / ndf 2χ  87.91 / 25

p0        0.0±  3903 

p1        0.0002003± 0.0007074 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)

TP delay [ns]
0 20 40 60 80 100

3909

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15) / ndf 
2χ  144.7 / 25

p0        0.0±  3909 

p1        0.000178± 0.001119 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0) / ndf 
2χ  110.4 / 25

p0        0.0±  3953 

p1        0.000189± 0.001272 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1) / ndf 
2χ  83.03 / 25

p0        0.0±  3946 

p1        0.000197± 0.001401 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,2) / ndf 
2χ  35.04 / 25

p0        0.0±  3948 

p1        0.000176± 0.001275 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3) / ndf 
2χ  59.08 / 25

p0        0.0±  3955 

p1        0.000188± 0.001009 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3)

TP delay [ns]
0 20 40 60 80 100

3922

3923

3924

3925

3926

3927

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,9,4) / ndf 
2χ  83.21 / 25

p0        0.0±  3928 

p1        0.00022± 0.00111 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,4)

TP delay [ns]
0 20 40 60 80 100

3936

3937

3938

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5) / ndf 
2χ  59.61 / 25

p0        0.0±  3938 

p1        0.000200± 0.001258 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5)

TP delay [ns]
0 20 40 60 80 100

3942

TVC (Mean) vs TP delay (c,b,ch)=(4,9,6) / ndf 
2χ  54.01 / 25

p0        0.0±  3942 

p1        0.000184± 0.001054 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,6)

TP delay [ns]
0 20 40 60 80 100

3940

TVC (Mean) vs TP delay (c,b,ch)=(4,9,7) / ndf 
2χ  80.88 / 25

p0        0.0±  3940 

p1        0.000200± 0.001362 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,8) / ndf 
2χ  66.59 / 25

p0        0.0±  3932 

p1        0.000184± 0.001576 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,8)

TP delay [ns]
0 20 40 60 80 100

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,9,9) / ndf 
2χ  53.91 / 25

p0        0.0±  3935 

p1        0.000192± 0.001364 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,9)

TP delay [ns]
0 20 40 60 80 100

3936

TVC (Mean) vs TP delay (c,b,ch)=(4,9,10) / ndf 
2χ  66.51 / 25

p0        0.0±  3936 

p1        0.000203± 0.001211 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,11) / ndf 
2χ  73.82 / 25

p0        0.0±  3933 

p1        0.000177± 0.001292 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,11)

TP delay [ns]
0 20 40 60 80 100

3934

TVC (Mean) vs TP delay (c,b,ch)=(4,9,12) / ndf 
2χ  132.1 / 25

p0        0.0±  3934 

p1        0.000181± 0.001314 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,13) / ndf 
2χ  118.3 / 25

p0        0.0±  3933 

p1        0.000184± 0.001873 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,14) / ndf 
2χ  68.15 / 25

p0        0.0±  3928 

p1        0.00019± 0.00108 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,14)

TP delay [ns]
0 20 40 60 80 100

3937

TVC (Mean) vs TP delay (c,b,ch)=(4,9,15) / ndf 
2χ  141.8 / 25

p0        0.0±  3937 

p1        0.000180± 0.001633 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,15)



TP delay [ns]
0 20 40 60 80 100

3895

3896

3897

3898

3899

3900

3901

TVC (Mean) vs TP delay (c,b,ch)=(4,10,0) / ndf 
2χ  77.93 / 25

p0        0.0±  3900 

p1        0.000200± 0.001395 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,0)

TP delay [ns]
0 20 40 60 80 100

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,10,1) / ndf 
2χ  149.6 / 25

p0        0.0±  3916 

p1        0.000181± 0.001397 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,2) / ndf 
2χ  146.1 / 25

p0        0.0±  3905 

p1        0.00018± 0.00151 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,2)

TP delay [ns]
0 20 40 60 80 100

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,10,3) / ndf 
2χ  138.8 / 25

p0        0.0±  3911 

p1        0.000173± 0.001536 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,4) / ndf 
2χ  97.26 / 25

p0        0.0±  3927 

p1        0.000176± 0.002139 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,4)

TP delay [ns]
0 20 40 60 80 100

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,10,5) / ndf 
2χ  97.49 / 25

p0        0.0±  3926 

p1        0.000184± 0.001609 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,5)

TP delay [ns]
0 20 40 60 80 100

3926

3927

3928

3929

3930

3931

TVC (Mean) vs TP delay (c,b,ch)=(4,10,6) / ndf 
2χ  97.57 / 25

p0        0.0±  3931 

p1        0.00018± 0.00172 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,6)

TP delay [ns]
0 20 40 60 80 100

3931

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,10,7) / ndf 
2χ  97.53 / 25

p0        0.0±  3932 

p1        0.000190± 0.001489 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,7)

TP delay [ns]
0 20 40 60 80 100

3913

3914

3915

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,10,8) / ndf 
2χ  107.6 / 25

p0        0.0±  3916 

p1        0.000182± 0.001339 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,8)

TP delay [ns]
0 20 40 60 80 100

3916

3917

TVC (Mean) vs TP delay (c,b,ch)=(4,10,9) / ndf 
2χ  96.24 / 25

p0        0.0±  3917 

p1        0.000181± 0.001206 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,9)

TP delay [ns]
0 20 40 60 80 100

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,10,10) / ndf 
2χ  89.86 / 25

p0        0.0±  3916 

p1        0.000187± 0.001264 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,11) / ndf 
2χ  114.2 / 25

p0        0.0±  3920 

p1        0.00019± 0.00117 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,11)

TP delay [ns]
0 20 40 60 80 100

3920

3921

3922

3923

3924

TVC (Mean) vs TP delay (c,b,ch)=(4,10,12) / ndf 
2χ  89.89 / 25

p0        0.0±  3924 

p1        0.000212± 0.001228 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,12)

TP delay [ns]
0 20 40 60 80 100

3938
TVC (Mean) vs TP delay (c,b,ch)=(4,10,13) / ndf 

2χ  121.5 / 25

p0        0.0±  3938 

p1        0.000183± 0.001221 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,14) / ndf 
2χ  140.3 / 25

p0        0.0±  3937 

p1        0.000182± 0.001233 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,14)

TP delay [ns]
0 20 40 60 80 100

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,10,15) / ndf 
2χ    142 / 25

p0        0.0±  3926 

p1        0.000176± 0.001133 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,0)
 / ndf 2χ  78.16 / 25

p0        0.0±  3924 

p1        0.0002166± 0.0001715 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,0)

TP delay [ns]
0 20 40 60 80 100

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,11,1)
 / ndf 2χ  89.83 / 25

p0        0.0±  3932 

p1        0.0001860± 0.0006433 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,2)
 / ndf 2χ  79.27 / 25

p0        0.0±  3930 

p1        0.0001856± 0.0004138 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,3)
 / ndf 2χ  80.27 / 25

p0        0.0±  3926 

p1        0.0001892± 0.0008084 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,3)

TP delay [ns]
0 20 40 60 80 100

3949

3950

3951

3952

TVC (Mean) vs TP delay (c,b,ch)=(4,11,4)
 / ndf 2χ  127.1 / 25

p0        0.0±  3952 

p1        0.0002038± 0.0009173 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,5)
 / ndf 2χ  81.31 / 25

p0        0.0±  3944 

p1        0.0002019± 0.0005333 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,6)
 / ndf 2χ  145.8 / 25

p0        0.0±  3951 

p1        0.0001852± 0.0004232 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,6)

TP delay [ns]
0 20 40 60 80 100

3950

TVC (Mean) vs TP delay (c,b,ch)=(4,11,7)
 / ndf 2χ  158.7 / 25

p0        0.0±  3950 

p1        0.0001788± 0.0009094 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,8) / ndf 
2χ  110.6 / 25

p0        0.0±  3926 

p1        0.000182± 0.000966 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,8)

TP delay [ns]
0 20 40 60 80 100

3927

3928

3929

3930

3931

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,11,9)
 / ndf 2χ    105 / 25

p0        0.0±  3932 

p1        0.0001883± 0.0008806 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,9)

TP delay [ns]
0 20 40 60 80 100

3933

TVC (Mean) vs TP delay (c,b,ch)=(4,11,10)
 / ndf 2χ  125.9 / 25

p0        0.0±  3933 

p1        0.0001833± 0.0009816 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,10)

TP delay [ns]
0 20 40 60 80 100

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,11,11) / ndf 
2χ  114.8 / 25

p0        0.0±  3927 

p1        0.000179± 0.001191 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,12) / ndf 
2χ  148.6 / 25

p0        0.0±  3933 

p1        0.000180± 0.001025 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,13)
 / ndf 2χ  127.5 / 25

p0        0.0±  3926 

p1        0.0001726± 0.0006951 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,13)

TP delay [ns]
0 20 40 60 80 100

3929

TVC (Mean) vs TP delay (c,b,ch)=(4,11,14)
 / ndf 2χ  101.8 / 25

p0        0.0±  3929 

p1        0.0001873± 0.0007759 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,14)

TP delay [ns]
0 20 40 60 80 100

3927

3928

3929

3930

3931

TVC (Mean) vs TP delay (c,b,ch)=(4,11,15)
 / ndf 2χ  105.7 / 25

p0        0.0±  3931 

p1        0.0001738± 0.0009937 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,0) / ndf 
2χ  78.43 / 25

p0        0.0±  3929 

p1        0.000197± 0.001262 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,0)

TP delay [ns]
0 20 40 60 80 100

3943

TVC (Mean) vs TP delay (c,b,ch)=(4,12,1) / ndf 
2χ  98.67 / 25

p0        0.0±  3943 

p1        0.000178± 0.001169 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,2) / ndf 
2χ   94.6 / 25

p0        0.0±  3937 

p1        0.000188± 0.001457 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,2)

TP delay [ns]
0 20 40 60 80 100

3933

TVC (Mean) vs TP delay (c,b,ch)=(4,12,3) / ndf 
2χ   91.6 / 25

p0        0.0±  3933 

p1        0.000205± 0.001289 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,3)

TP delay [ns]
0 20 40 60 80 100

3920

TVC (Mean) vs TP delay (c,b,ch)=(4,12,4)
 / ndf 2χ  45.63 / 25

p0        0.0±  3920 

p1        0.0001964± 0.0008585 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,5)
 / ndf 2χ  84.39 / 25

p0        0.0±  3920 

p1        0.0001914± 0.0005463 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,6)
 / ndf 2χ  58.44 / 25

p0        0.0±  3917 

p1        0.0001796± 0.0003647 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,6)

TP delay [ns]
0 20 40 60 80 100

3917

3918

3919

3920

3921

3922

TVC (Mean) vs TP delay (c,b,ch)=(4,12,7)
 / ndf 2χ  63.34 / 25

p0        0.0±  3922 

p1        0.0001786± 0.0007186 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,7)

TP delay [ns]
0 20 40 60 80 100

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,12,8)
 / ndf 2χ  58.09 / 25

p0        0.0±  3911 

p1        0.0001850± 0.0009165 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,8)

TP delay [ns]
0 20 40 60 80 100

3903

3904

3905

3906

3907

3908

3909

3910

TVC (Mean) vs TP delay (c,b,ch)=(4,12,9) / ndf 
2χ  44.04 / 25

p0        0.0±  3910 

p1        0.000188± 0.001321 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,10) / ndf 
2χ  91.83 / 25

p0        0.0±  3913 
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2χ   72.1 / 25

p0        0.0±  3904 

p1        0.0002± 0.0013 
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,13) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,13)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,1) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,2) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,2)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,3)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,4)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,5) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,5)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,6)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,7)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,7)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,8)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,9)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,10)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,12) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,12)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,14) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,14)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,15) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,0) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,0)

TP delay [ns]
0 20 40 60 80 100

3974

TVC (Mean) vs TP delay (c,b,ch)=(4,14,1) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,1)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,2) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,2)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,3) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,3)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,4) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,4)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,5)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,5)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,6) / ndf 
2χ  96.93 / 25

p0        0.0±  3964 

p1        0.000181± 0.001144 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,6)

TP delay [ns]
0 20 40 60 80 100

3976

TVC (Mean) vs TP delay (c,b,ch)=(4,14,7)
 / ndf 2χ    113 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,7)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,8)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,8)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,9) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,9)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,10)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,10)

TP delay [ns]
0 20 40 60 80 100

3921

3922

TVC (Mean) vs TP delay (c,b,ch)=(4,14,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,12)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,12)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,13)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,14) / ndf 
2χ  69.72 / 25
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p1        0.000193± 0.001475 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,14)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,15) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,0) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,0)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,1)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,2) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,2)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,3) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,3)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,4)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,4)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,5)
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p1        0.0002063± 0.0002437 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,5)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,6)
 / ndf 2χ  66.92 / 25

p0        0.0±  3928 

p1        0.0001880± 0.0008596 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,6)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,7)
 / ndf 2χ  101.4 / 25

p0        0.0±  3924 
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,7)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,8) / ndf 
2χ  115.7 / 25
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p1        0.000181± 0.000534 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,8)
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0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,15,9) / ndf 
2χ  108.1 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,9)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,10) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,10)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,11) / ndf 
2χ    129 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,12) / ndf 
2χ  131.7 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,12)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,13) / ndf 
2χ    120 / 25

p0        0.0±  3926 

p1        0.000171± 0.001491 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,13)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,14) / ndf 
2χ   76.6 / 25
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p1        0.000182± 0.001476 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,14)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,15) / ndf 
2χ  133.3 / 25

p0        0.0±  3926 

p1        0.000176± 0.001074 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,15)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,0) / ndf 2χ   7133 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,0)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,1) / ndf 2χ   6365 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,1)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,2) / ndf 2χ   7374 / 25
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C = 28.34 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(5,0,2)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,3) / ndf 2χ   7193 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,3)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,4) / ndf 2χ   9781 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,4)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,5) / ndf 2χ   8916 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,5)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,6) / ndf 2χ   9441 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,6)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,7)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,8) / ndf 2χ  1.56e+04 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,8)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,9) / ndf 2χ  3.588e+04 / 25

p0        0.0±  4219 

p1        0.00± -35.28 

C = 28.34 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(5,0,9)
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p0        0.0±  4219 

p1        0.00± -33.81 

C = 29.58 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(5,0,10)

TP delay [ns]
0 20 40 60 80 100

500

1000

1500

2000

2500

3000

3500

4000

TVC (Mean) vs TP delay (c,b,ch)=(5,0,11) / ndf 2χ  1.66e+04 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,11)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,12)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,13) / ndf 2χ  1.059e+04 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,13)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,14) / ndf 2χ   9606 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,14)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,15) / ndf 2χ  1.034e+04 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,15)
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TVC (Mean) vs TP delay (c,b,ch)=(5,1,0) / ndf 2χ   9118 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(5,1,0)
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